Math 1160 — Summer 2016 Name: K E\{

In-Class Worksheet — Chapter 8

Complete the following worksheet for up to 5 bonus points. Write your answer in the provided spaces.
1. If cosa = %, 0<a< F,and cosff = \/Tﬁ 3” < f < 2m, find the following;:

A.sin(a+pB) B.sin(a—p) C.cos(a+pB) D.sin(28) E.cos(2a) F.sin(%) G. cos
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2. Find the exact value of cos [tan™! (—3) — csc™* (—3)].
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| | sin(48)= Sin(a-20)=S\n(ax)
3. Solve the following on the interval [0, 27).
G5} S e =251 \COSK = 2.SIn(A6) C0S(28)

SN(A0) + 2SINBA@) GS@0) =6 AN WQ@M wt 26

3n(a8) (\+2cos@® ) =0

Sm(a8) =0 [+ 2 (Q0)=0 Tt R-valud 4o ind*
20= O o _ 2w I
{29*rc++?f<kn m,{z@% = +2RT L@ 5{ )5)2.) 5, ?«:521; 5;:
B 29= 4F 42k -
3 9 Oi‘kW oS 0= %»hw
Trkrc 6=ZF+ R

(b) 2cos?8 +cosf—1=0 MMQﬂCl
<2Qos G—1)(cose+1) =D

20050-|=0 8L G +|=0
=Ei 0= I

| & Feei]

(c) sin(26) —cosf —2sinf+1=0

23510 0s8-cos B - 25 1IN0 4| =
COSQ( 25in8-1) ~2sinB+| =0

(osB(2sing-1) ~(a51n@-|) =0

= LUE_TU‘
((‘,osg-l)(zst—l) =0 (@ %O)b) 6 }J

WsO-| =0 oL 2s5nP-[=0
6=0 6=

17}

S
o




